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𝟐    

𝟏   

𝑬 𝑨𝑫̅̅ ̅̅𝑷(𝑬 ∈  𝑩𝑪̅̅ ̅̅ ) = 𝑩𝑪
𝑨𝑫

𝐀 𝑩𝑬̅̅ ̅̅

 

𝑷(𝑨 ∈  𝑩𝑫̅̅ ̅̅̅  )

𝑷(𝑨 ∈ 𝑩𝑫̅̅ ̅̅̅ ) =
𝑩𝑫̅̅ ̅̅̅
𝑩𝑬̅̅ ̅̅ =

𝟓 + 𝟏𝟐
𝟓 + 𝟏𝟐 + 𝟗

                      =
𝟏𝟕
𝟐𝟔 

𝑷(𝑨 ∈  𝑪𝑫̅̅ ̅̅   )

𝑷(𝑨 ∈  𝑪𝑫̅̅ ̅̅   ) =
𝑪𝑫̅̅ ̅̅
𝑩𝑬̅̅ ̅̅ =

𝟏𝟐
𝟓 + 𝟏𝟐+ 𝟗

 =
𝟏𝟐
𝟐𝟔 =

𝟔
𝟏𝟑        

 

𝑨𝑩
𝑬𝑨𝑬

𝑬𝑩
𝑩    

𝑨   

𝑬 𝑨

𝑷 (𝑩   𝑬  ) =
𝑩    

𝑨    

 

https://drive.google.com/file/d/1FJBRLaIBS9mi2WAPDbyI5c5hA_fr4LBD/view?usp=drivesdk
https://youtu.be/zqvy-bStNZg
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𝒓𝟐𝝅 = 𝟐𝟓𝝅 𝒄𝒎𝟐

𝒍 𝒘 = 𝟏𝟎. 𝟏𝟔 = 𝟏𝟔𝟎 𝒄𝒎𝟐

= 𝟏𝟔𝟎 − 𝟐𝟓𝝅 = 𝟖𝟏. 𝟓𝒄𝒎𝟐   

𝑷 (     ) =
    

  

 = 𝟖𝟏.𝟓 𝒄𝒎𝟐

𝟏𝟔𝟎 𝒄𝒎𝟐 ≈ 𝟓𝟏%                  

 

𝒙°𝟑𝟔𝟎°

𝒙
𝟑𝟔𝟎

𝒙
𝟑𝟔𝟎

= 𝟗𝟎
𝟑𝟔𝟎

= 𝟏
𝟒

= 𝟐𝟓%               

𝟑𝟔𝟎−𝟒𝟓
𝟑𝟔𝟎

= 𝟑𝟏𝟓
𝟑𝟔𝟎

= 𝟕
𝟖

= 𝟖𝟕. 𝟓 %                     
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 اختر الإجابة الصحيحة :  
 

1 

Ⓐ𝟎. 𝟎𝟕Ⓑ𝟎. 𝟐𝟓Ⓒ𝟎. 𝟑𝟐Ⓓ𝟎. 𝟏𝟗

2 

𝑥𝑥

Ⓐ
𝟐
𝟕

Ⓑ
𝟑

𝟏𝟒
Ⓒ

𝟏
𝟐

Ⓓ
𝟏𝟏
𝟏𝟒 

3 

ⒶⒷⒸ
𝟏
𝟗

Ⓓ
𝟏
𝟑

4 

Ⓐ
𝟏
𝟗

Ⓑ
𝟏
𝟔

Ⓒ
𝟕

𝟐𝟓
Ⓓ

𝟕
𝟏𝟖

 ملحق الحل فهرس الفصل 


